Filters: Start Date - 9/23/2000; End Date - 9/23/2025; Equipment - 350G-LC JD EXCAVATOR [5724]

Work Order:

25013

Equipment:

350G-LC JD EXCAVATOR [5724]

Work Location:

Current Equipment Location

Created by:

Brian MacDonald

Kms: Hr:

5094 5539 Status:

Serial Number:

1FF350GXJMF815091

**Business Unit:** Start Date:

Machinery 10/11/2021

Transferred

Stop Date:

10/18/2021

# **Work Order Cost Summary**

Description	Quantity	Labor Type	Rate	Total
BRIAN MACDONALD	7.00 RT	Shop Mech Field	\$54.00	\$378.00
HERMANN KUKOWSKI	5.50 RT	Shop Mech Field	\$54.00	\$297.00
			Total Labor	\$675.00
CORE[Custom]	1.00 Each	)	\$1,213.37	\$1,213.37
DOOR[Custom]	1.00 Each	ı	\$5,412.27	\$5,412.27
INTERCOO[Custom]	1.00 Each	1	\$5,490.31	\$5,490.31
PROTECTOR- SIDE [3263407]	4.00 Each	1	\$138.00	\$551.99
RADIATOR[Custom]	1.00 Each	1	\$7,567.30	\$7,567.30
			<b>Total Parts</b>	\$20,235.24
The state of the s			Total Equip	\$0.00
			Total Cost	\$20,910.24

Item ID	Description	Completed By	Reported Hours
			ide littlym
45816	5724 rig up	Carla Merklin	12.50
Work Orde	er: 25769	Status:	Transferred
Equipmen	t: 350G-LC JD EXCAVATOR [5724	Serial Number:	1FF350GXJMF815091
Work Loca	ction: Current Equipment Location	Business Unit:	Machinery
Created by	Carla Merklin	Start Date:	11/16/2021
Kms:	5094	Stop Date:	11/19/2021
Hr:	5539		

Description	Quantity	Labor Type	Rate	Total
BARTLEY WEST	10,50 RT	Shop Weld Field	\$54.00	\$567.00
JASON HOLLINGSWORTH	14.50 RT	Shop Mech Field	\$54.00	\$783.00
P			Total Labor	\$1,350.00
1" MALE WING COUPLER NIPPLE HP CONNECT [6105-16]	1.00 Each	1	\$70.77	\$70.77
FIRST AID KIT ALBERTA LEVEL1 (BAG) [F881N260]	1.00 Each	1	\$15.83	\$15.83
PARTS CREDIT[Custom]	1.00 Each	Ĺ	(\$500.00)	(\$500.00)
			<b>Total Parts</b>	(\$413.40)
			Total Equip	\$0.00
			Total Cost	\$936.60

Item ID	Description	Completed By	Reported Hours
47422	5724 - check over for OES	Carla Merklin	25.00

25956

Equipment:

350G-LC JD EXCAVATOR [5724]

Work Location:

Created by: Kms:

Hr:

Carla Merklin

5094

5539

Status:

Serial Number:

**Business Unit:** 

**Start Date:** Stop Date:

Transferred

1FF350GXJMF815091

Machinery

#### Work Order Cost Summary

Descri	ption	Quantity Labor Type	Rate	Total
			Total Labor	\$0.00
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$0.00

Item I	D Description	Completed By	Reported Hours
46964	0500 Hour Service	Carla Merklin	0.00

- \* Change engine oil.

  \* Change engine filters -- oil and air.

  \* Change fuel filters.

  \* Change final drive oils.

  \* Check all fluids.

- \* Complete grease.
- \* Sample all oils.

Work Order:

28680

Equipment:

350G-LC JD EXCAVATOR [5724]

Work Location:

**Current Equipment Location** 

Created by:

Carla Merklin 5094

Hr:

Kms:

53339

5539

5724 - repair toolbox dent

Status:

Serial Number:

**Business Unit:** 

**Start Date:** 

**Stop Date:** 

Carla Merklin

**Transferred** 1FF350GXJMF815091

Machinery

3/17/2022

3/31/2022

8.50

Descrip	otion	Quantity	Labor Type	Rate	Total
BARTLE	Y WEST	4.00 RT	Shop Weld Field	\$54.00	\$216.00
JASON	HOLLINGSWORTH	3.00 RT	Shop Mech Field	\$54.00	\$162.00
TREVOR	RONSIDE	1.50 RT	Shop Weld Field	\$54.00	\$81.00
l				Total Labor	\$459.00
				Total Parts	\$0.00
				Total Equip	\$0.00
				Total Cost	\$459.00
Item I	D Description		Completed By	Reported Hours	

28682

Equipment:

350G-LC JD EXCAVATOR [5724]

**Work Location:** 

Created by:

Carla Merklin

Kms:

5094 5539

Hr:

Status:

Serial Number:

**Business Unit:** 

Start Date:

Stop Date:

Machinery

Transferred

1FF350GXJMF815091

Description	Quantity	Labor Type	Rate	Total
			Total Labor	\$0.00
			Total Parts	\$0.00
			Total Equip	\$0.00
L			Total Cost	\$0.00

Item ID	Description	Completed By	Reported Hours
49931	0250 Hour Service	Carla Merklin	0.00

- \* Change engine oil.

  \* Change engine filters -- oil and air.

  \* Check all fluids.

  \* Complete grease.

31940

Equipment:

350G-LC JD EXCAVATOR [5724]

Work Location:

**Current Equipment Location** 

Created by:

John Marshall

Kms: Hr:

5094 5539 Status:

Serial Number:

**Business Unit: Start Date:** 

Stop Date:

**Transferred** 

1FF350GXJMF815091

Machinery

6/9/2022 6/9/2022

Descrip	tion	Quantity	Labor Type	Rate	Total
ANTHO	IY RODRIGUEZ	5.00 RT	Shop Lube	\$41.17	\$205.85
JOHN B	argen	2.50 RT	Shop Mech Field	\$59.34	\$148.35
				Total Labor	\$354.20
FILTER	[FYA00001490SH]	1.00 Each	)	\$44.19	\$44.19
FILTER	AIR {P617643, AT330978, RS5429} [AF26124]	1.00 Each	1	\$63.50	\$63.50
FILTER	AIR {P617644, AT330980, RS5430} [AF26125]	1.00 Each	1	\$36.96	\$36.96
FILTER	CAB AIR {4S00686SH} [CAF55754]	1.00 Each	1	\$66.39	\$66.39
FILTER	FUEL SEPARATOR [AT365869 {FS19754}]	1.00 Each	1	\$62.86	\$62.86
FILTER	LUBE SPIN-ON {DZ101884} [LF16106]	1.00 Each	1	\$42.13	\$42.13
FUEL FI	TER {CFS1093, RE533910} [DZ112918]	1.00 Each	1	\$124.36	\$124.36
FUEL FI	LTER {RE532952, RE539465, CFS1091} [RE532952]	1.00 Each	1	\$156.60	\$156.60
				Total Parts	\$596.99
				Total Equip	\$0.00
				Total Cost	\$951.19

Item ID	Description	Completed By	Reported Hours
58552	1000 Hour Service	Anthony Rodriguez	7.50

- \* Change all filters.
  \* Change engine oil.
  \* Change swing drive oil.
  \* Change final drive oils.
  \* Change pump drive / damper case oil.
  \* Check all fluids.
  \* Complete grease.
  \* Sample all oils.

32092

Equipment:

350G-LC JD EXCAVATOR [5724]

**Work Location:** 

Current Equipment Location

Created by:

Carla Merklin

Kms:

5094

Hr: 5539

Status:

Serial Number:

Transferred

1FF350GXJMF815091 Machinery

Machinery 6/9/2022

Start Date: Stop Date:

**Business Unit:** 

6/13/2022

## **Work Order Cost Summary**

Description	Quantity	Labor Type	Rate	Total
JOHN BARGEN	6.50 RT	Shop Mech Field	\$59.34	\$385.71
			Total Labor	\$385.71
HARDCHROME 4752[Custom]	1.00 Each	l	\$296.02	\$296.02
			Total Parts	\$296.02
			Total Equip	\$0.00
			Total Cost	\$681.73

Item ID	Description	Completed By	Reported Hours
59044	5724 t/s idler noise	Carla Merklin	6.50
Work Orde	r: 33043	Status:	Transferred
Equipment	: 350G-LC JD EXCAVATOR [5724]	Serial Number:	1FF350GXJMF815091
Work Loca	tion: Current Equipment Location	Business Unit:	Machinery
Created by	: Carla Merklin	Start Date:	7/13/2022
Kms:	5094	Stop Date:	7/15/2022
Hr:	5539		

Description	Quantity Labor Type	Rate	Total
JOHN BARGEN	5.50 RT Shop Mech Field	\$59.34	\$326.37
		Total Labor	\$326.37
HEADLIGHT[Custom]	1.00 Each	\$330.16	\$330.16
SNAP RING [T238670]	1,00 Each	\$16.91	\$16.91
T238665[Custom]	1.00 Each	\$106.09	\$106.09
		<b>Total Parts</b>	\$453.16
		Total Equip	\$0.00
		Total Cost	\$779.53

Item ID	Description	Completed By	Reported Hours
60840	5724 - T/S AUX LINES LEAKING/VALVE BLOCKS WASHED OUT	Carla Merklin	5.50

33089

Equipment:

350G-LC JD EXCAVATOR [5724]

Work Location:

**Current Equipment Location** 

Created by:

Stockton Pollitt

Kms: Hr:

5094

5539

Status:

**Serial Number:** 

**Business Unit: Start Date:** 

Stop Date:

Transferred

1FF350GXJMF815091

Machinery 7/18/2022 7/18/2022

# Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
STEVEN MICKLEBORO	2.00 RT	Shop Lube	\$41.17	\$82.34
			Total Labor	\$82.34
FILTER LUBE SPIN-ON {DZ101884,LF16106} [DZ118283]	1.00 Each		\$36.32	\$36.32
			Total Parts	\$36.32
			Total Equip	\$0.00
			Total Cost	\$118.66

Item ID	Description	Completed By	Reported Hours
60896	0250 Hour Service	Carla Merklin	2.00

- \* Change engine oil.
  \* Change engine filters -- oil and air.
- Check all fluids.
- Complete grease.

Work Order:

35427

Equipment: Work Location: 350G-LC JD EXCAVATOR [5724] **Current Equipment Location** 

Created by:

Carla Merklin

Kms: Hr:

5094 5539 Status:

**Serial Number:** 

**Business Unit:** 

**Start Date:** Stop Date:

Machinery

Transferred

1FF350GXJMF815091

9/28/2022 10/14/2022

Descri	ption	Quantity	Labor Type	Rate	Total
DAVE H	UNT	25.50 RT	Shop Mech Field	\$59.34	\$1,513.17
KYLE D	RANEY	4.00 RT	Shop Weld Rky	\$47.83	\$191.32
MATTH	EW GERVAIS	13.50 RT	Shop Mech Field	\$59.34	\$801.09
NEIL FE	RRIS	6.00 RT	Shop Mech Field	\$59.34	\$356.04
				Total Labor	\$2,861.62
5" RUB	BER HOOD LATCH [44-11606]	1.00 Each	l	\$6.49	\$6.49
MOUNT	KIT [170001001]	1.00 Each	1	\$324.86	\$324.86
PIN M1	00XY [201004]	1.00 Each	1	\$1,466.83	\$1,466.83
				<b>Total Parts</b>	\$1,798.18
				Total Equip	\$0.00
				Total Cost	\$4,659.80

Item ID	Description	Completed By	Reported Hours
65258	5724 - install thumb	Carla Merklin	49.00

37738

**Equipment:** 

**Work Location:** 

Created by:

Carla Merklin

Kms:

5094

350G-LC JD EXCAVATOR [5724]

Serial Number: **Business Unit:** 

**Start Date:** 

**Stop Date:** 

Status:

Transferred 1FF350GXJMF815091

Machinery

Hr: 5539

#### **Work Order Cost Summary**

Description	Quantity Labor Type	Rate	Total
		Total Labor	\$0.00
		Total Parts	\$0.00
		Total Equip	\$0.00
	<del></del>	Total Cost	\$0.00

**Notes:** 1750

Item ID Description **Completed By Reported Hours** 68966 0250 Hour Service Carla Merklin 0.00

\* Change engine oil.

\* Change engine filters -- oil and air.

\* Check all fluids.

\* Complete grease.

Work Order:

39309

**Equipment:** 

**Work Location:** 

Created by:

Kms:

Hr:

350G-LC JD EXCAVATOR [5724]

Brittinni Lockard

5094

5539

Status:

**Serial Number:** 

**Business Unit:** 

**Start Date: Stop Date:** 

Transferred

1FF350GXJMF815091

Machinery

Description	Quantity Labor Type	Rate	Total
		Total Labor	\$0.00
		Total Parts	\$0.00
		Total Equip	\$0.00
		Total Cost	\$0.00

Item ID	Description	Completed By	Reported Hours
71387	1000 Hour Service	Brittinni Lockard	0.00

- \* Change all filters.
  \* Change engine oil.
  \* Change swing drive oil.
  \* Change final drive oils.
  \* Change pump drive / damper case oil.
  \* Check all fluids.
  \* Complete grease.
  \* Sample all oils.

39614

Equipment:

350G-LC JD EXCAVATOR [5724]

Work Location:

**Current Equipment Location** 

Created by: Kms:

Hr:

5094 5539

Cody Brown

**Start Date: Stop Date:** 

Status:

**Serial Number:** 

**Business Unit:** 

**Transferred** 

1FF350GXJMF815091

Machinery

2/12/2023 2/12/2023

# **Work Order Cost Summary**

Descri	ption	Quantity	Labor Type	Rate	Total
CODY	ROWN	1.00 RT	Shop Mech Rky	\$49.05	\$49.05
				Total Labor	\$49.05
				Total Parts	\$0.00
				Total Equip	\$0.00
				Total Cost	\$49.05

Item ID	Description	Completed By	Reported Hours
72993	5724-Move unit for cleaning	Brittinni Lockard	1.00
Work Order:	40560	Status:	Transferred
Equipment:	350G-LC JD EXCAVATOR [5724]	Serial Number:	1FF350GXJMF815091
Work Location	1:	Business Unit:	Machinery
Created by:	Brittinni Lockard	Start Date:	
Kms:	5094	Stop Date:	
Hr:	5539		

Description	Quantity Labor Type	Rate	Total
		Total Labor	\$0.00
		Total Parts	\$0.00
		Total Equip	\$0.00
		Total Cost	\$0.00

Item I	Description Description	Completed By	Reported Hours
71012	0250 Hour Service	Brittinni Lockard	0.00

\* Change engine oil.
\* Change engine filters -- oil and air.
\* Check all fluids.

\* Complete grease.

**Work Order:** 

41939

**Equipment:** 

350G-LC JD EXCAVATOR [5724]

**Work Location:** 

Created by:

Brittinni Lockard

Kms: Hr:

5094 5539 Status:

**Serial Number: Business Unit:** 

**Start Date:** 

Machinery

Transferred

1FF350GXJMF815091

Stop Date:

Description	Quantity Labor Type	Rate	Total
		Total Labor	\$0.00
		Total Parts	\$0.00
		Total Equip	\$0.00
		Total Cost	\$0.00

Item ID	Description	Completed By	Reported Hours
75740	0500 Hour Service	Brittinni Lockard	0.00

- \* Change engine oil.

  \* Change engine filters -- oil and air.

  \* Change fuel filters.

  \* Change final drive oils.

  \* Check all fluids.

  \* Complete grease.

  \* Sample all oils.

42775

Equipment:

350G-LC JD EXCAVATOR [5724]

Work Location:

Created by:

Brittinni Lockard

Kms: Hr: 5539

5094

Status:

Serial Number:

**Business Unit: Start Date:** 

**Stop Date:** 

Transferred

1FF350GXJMF815091

Machinery

# Work Order Cost Summary

Descrip	tion	Quantity Labor Type	Rate	Total
			Total Labor	\$0.00
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$0.00

Item ID	Description	Completed By	Reported Hours
66380	0250 Hour Service	Brittinni Lockard	0.00

- \* Change engine oil.
  \* Change engine filters -- oil and air.
  \* Check all fluids.
- Complete grease.

Work Order:

43665

Equipment:

350G-LC JD EXCAVATOR [5724]

Work Location:

Created by: Kms:

Brittinni Lockard

Hr: 5539

5094

Status:

**Serial Number:** 

**Business Unit:** 

**Start Date: Stop Date:** 

Transferred

1FF350GXJMF815091

Machinery

Descri	ption	Quantity Labor Type	Rate	Total
			Total Labor	\$0.00
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$0.00

Item I	D Description	Completed By	Reported Hours
79402	1000 Hour Service	Brittinni Lockard	0.00

- \* Change all filters.
  \* Change engine oil.
  \* Change swing drive oil.
- \* Change final drive oils.

  \* Change pump drive / damper case oil.
- \* Check all fluids.
- \* Complete grease.
- \* Sample all oils.

Work Order: **Equipment:** 

44449

350G-LC JD EXCAVATOR [5724]

**Work Location:** 

Created by:

Brittinni Lockard

Kms: 5094 Hr: 5539 Status:

**Serial Number:** 

**Business Unit:** 

**Start Date:** Stop Date:

**Transferred** 1FF350GXJMF815091

Machinery

Description	Quantity Labor Type	Rate	Total
		Total Labor	\$0.00
		Total Parts	\$0.00
		Total Equip	\$0.00
		Total Cost	\$0.00

Item ID	Description	Completed By	Reported Hours
\			
72989	0250 Hour Service	Brittinni Lockard	0.00

- \* Change engine oil.
  \* Change engine filters -- oil and air.
  \* Check all fluids.
- \* Complete grease.

45639

Equipment:

350G-LC JD EXCAVATOR [5724]

Work Location:

Created by:

Brittinni Lockard

Kms: 5094 Hr:

5539

Status:

**Serial Number:** 

**Business Unit:** 

**Start Date:** 

Stop Date:

**Transferred** 

1FF350GXJMF815091

Machinery

#### Work Order Cost Summary

Descri	tion Quantity	Labor Type Rate	Total
		Total Labor	\$0.00
		Total Parts	\$0.00
		Total Equip	\$0.00
		Total Cost	\$0.00

Item I	Description Description	Completed By	Reported Hours
66786	0500 Hour Service	Brittinni Lockard	0.00

- Change engine oil.
- Change engine filters -- oil and air. Change fuel filters. Change final drive oils.

- \* Check all fluids.
  \* Complete grease.
- \$ample all oils.

Work order:

46190

Equipment:

350G-LC JD EXCAVATOR [5724]

Work Location:

Created by:

Brittinni Lockard

Kms: Hr:

5094 5539

Status:

**Serial Number:** 

**Business Unit:** 

**Start Date:** Stop Date:

**Transferred** 1FF350GXJMF815091

Machinery

Description	Quantity Labor Type	Rate	Total
		Total Labor	\$0.00
		Total Parts	\$0.00
		Total Equip	\$0.00
		Total Cost	\$0.00

Item ID	Description	Completed By	Reported Hours
75107	0250 Hour Service	Brittinni Lockard	0.00

\* Change engine oil.
\* Change engine filters -- oil and air.
\* Check all fluids.

\* Complete grease.

Work Order: **Equipment:** 

46924

350G-LC JD EXCAVATOR [5724]

**Work Location:** Created by:

Brittinni Lockard

Kms: 5094 Hr: 5539 Status:

**Serial Number:** 

**Business Unit:** 

Start Date: Stop Date:

Transferred

1FF350GXJMF815091

Machinery

Description	Quantity Labor Type	Rate	Total
		Total Labor	\$0.00
		Total Parts	\$0.00
		Total Equip	\$0.00
<u> </u>		Total Cost	\$0.00

Item ID	Description	Completed By	Reported Hours
84942	1000 Hour Service	Brittinni Lockard	0.00

- \* Change all filters.

  \* Change engine oil.

  \* Change swing drive oil.

  \* Change final drive oils.

  \* Change pump drive / damper case oil.

  \* Check all fluids.

  \* Complete grease.

  \* Sample all oils.

: Hr:	2236		
Kms:	<del>▶</del> 60S	Stop Date:	10/2/5053
Created by:	Carla Merklin	Start Date:	10/2/5053
Work Location:	Current Equipment Location	Business Unit:	Machinery
Equipripent:	320G-LC DE EXCAVATOR [5724]	Serial Number:	1FF350GX3MF815091
Mork order:	T <b>S</b> 69 <del>b</del>	Status:	Transferred

Work order Cost Summary

	39.50	Brittinni Lockard		246 5724 - checkover
S.	Reported Hour	Completed By		em 1D Description
<b>⊁⊺</b> '998′8\$	Total Cost			
00.0\$	qiup3 letoT			
96'619'9\$	ethe9 listoT			
66. <b>F</b> S\$	££.8 <b>\$</b>		3.00 Each	VSHER 4116X7X18 [6K6351HD]
\$501'20	\$20.15		10.00 Each	VSHER 4116X7X116 [6K6351]
18.08\$	18.08\$		1.00 Each	BELT (25080865HD, R135193) - 350GLC [DZ119001]
6 <b>t</b> .261\$	9T <b>'+9</b> \$		3.00 Each	OTHI- TWIN TIGER (GET3450TTD, FC450WTS) [1U3452WTL]
\$158.33	91 <b>.</b> <del>1</del> 8		2.00 Each	OTH - TWIN TIGER (GET)450TTD, FC450WTS} [1U3452WTL]
\$72.16	80.3£\$		dos3 00.S	[SP+501HT] JA:
98.28\$	89.S <del>^</del> \$		Asa 00.2	AL[TH102411]
\$85.05	10'1 <b>+</b> \$		2,00 Each	[11P201HT] JA:
<b>₺</b> ₺'₮₺₤\$	89.24\$		4583 00.8	[114201HT] JA:
\$22.32	94.4\$		dosa 00.2	TAINER [8E8469]
TT'ZZZ'T\$	ττ <b>:</b> ∠∠∠'τ\$		1.00 Each	N MIDOXX [201004]
\$54.63	£6. <del>p</del> \$		dos3 00.2	и - гувсе [860468]
<b>65</b> '001\$	£3.5£		3.00 Each	DUVER - ROUND [FYA00003014]
\$162:00	00'\$61\$		1.00 Each	PAR EASY START PRO TIMER KIT [2028007022000A]
\$162.20	09'86\$		2.00 Each	1241We [FF535350]
85.1S <del>P</del> \$	67.012\$		2.00 Each	12HING [4443882]
₽8'68£\$	26' <del>5</del> 61\$		2.00 Each	[1248EPP] DAIHSI
0 <b>₽</b> .728≵	\$214:32		4.00 Each	[438182]
0 <b>८</b> .8 <b>Z</b> ₽\$	\$214:32		dos3 00.S	[43818E4] SNIHSI
\$458°34	<b>421.411</b>		dasa 00.2	12HINE [201002]
₽ <b>Z</b> .66£\$	Z9'66T\$		Asa 00.2	12HING [500662]
<del>1</del> 22°64	<b>46.77</b>		Z.00 Each	SPLIT ORING [AT349467]
86.21\$	6 <b>৮</b> ·9\$		dos3 00.S	[3091144] HOTAJ GOOH 93#8U8
81.346.18	Total Labor			
0Z:08Z'T\$	<b>₽</b> £.62 <b>\$</b>	Shop Mech Field	30.00 RT	нтиосмоктн
86.234	\$0.6 <del>1</del> \$	грор месь кку	ТЯ 02.6	уусе тивиев
stoT	Aste	Labor Type	Quantity	escription

47188

**Bryce Turner** 

**Equipment:** 

350G-LC JD EXCAVATOR [5724]

Work Location: Created by:

**Current Equipment Location** 

Kms:

5094 Hr: 5539 Status:

Stop Date:

Serial Number:

Transferred 1FF350GXJMF815091

**Business Unit:** Machinery **Start Date:** 

10/12/2023 10/12/2023

#### **Work Order Cost Summary**

Description	Quantity	Labor Type	Rate	Total
BRYCE TURNER	1.00 RT	Shop Mech Rky	\$49.05	\$49.05
			Total Labor	\$49.05
			Total Parts	\$0.00
			Total Equip	\$0.00
	· · · · · · · · · · · · · · · · · · ·		Total Cost	\$49.05

**Notes:** 

Outgoing inspection, Changed pin bushings, Changed out/ straightened steps, Installed thumb cylinder guard, Topped hydraulic fluid up, Took photos of unit, changed out serpentine belt, fixed water pump to cooler(hose clamps were loose)Submitted photos of unit

Item ID	Descrip	tion	Completed By	Reported Hours
86970	5724-Re <sub>l</sub>	pairs to unit	Brittinni Lockard	1,00
Work Orde	r:	48409	Status:	Transferred
Equipment	:	350G-LC JD EXCAVATOR [5724]	Serial Number:	1FF350GXJMF815091
Work Local	tion:	Current Equipment Location	Business Unit:	Machinery
Created by	:	Brittinni Lockard	Start Date:	11/16/2023
Kms:		5094	Stop Date:	11/16/2023
Hr:		5539		

Description	Quantity	Labor Type	Rate	Total
STEVEN MICKLEBORO	1.00 RT	Shop Lube	\$41.17	\$41.17
			Total Labor	\$41.17
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$41.17

Item ID	Description	Completed By	Reported Hours
77737	0250 Hour Service	Brittinni Lockard	1.00

- \* Change engine oil.
- \* Change engine filters -- oil and air.
- \* Check all fluids.
- \* Complete grease.

48513

Equipment:

350G-LC JD EXCAVATOR [5724]

Work Location:

**Current Equipment Location** 

Created by:

Brittinni Lockard

Kms: Hr: 5094 5539 Status:

Serial Number:

**Business Unit:** 

Start Date: Stop Date: Transferred

1FF350GXJMF815091

Machinery 11/20/2023

11/20/2023

Work Order Cost Summary

Descri	ption	Quantity	Labor Type	Rate	Total
ALLAN	SUTHERLAND	5.00 RT	Shop Mech Field	\$59.34	\$296.70
KENDR	ICK ROBINSON	7.00 RT	Shop Mech Rky	\$49.05	\$343.35
				Total Labor	\$640.05
DOOR	EAL [FXB00000987]	1.00 Each		\$114.63	\$114.63
FYA000	31215[Custom]	1.00 Each		(\$18.96)	(\$18.96)
TOOL E	OX HANDEL[Custom]	1.00 Each		\$18.96	\$18.96
				Total Parts	\$114.63
			-	Total Equip	\$0.00
				Total Cost	\$754.68

Item ID Descr	iption	Completed By	Reported Hours
89343 5724 -	NEW RAILS, REPAIRS	Brittinni Lockard	12.00
Work Order:	55742	Status:	Closed
Equipment:	350G-LC JD EXCAVATOR [5724]	Serial Number:	1FF350GXJMF815091
Nork Location:		Business Unit:	Machinery
Created by:	Carla Merklin	Start Date:	·
Cms:	5094	Stop Date:	
łr:	5539		

Description	Quantity Labor Type	Rate	Total
		Total Labor	\$0.00
1" DUST PLUG (610916) [NS5148]	2.00 Each	\$26.99	\$53.99
" FEMALE WING COUPLER (612516) [NS515W8]	2.00 Each	\$119.42	\$238.85
		Total Parts	\$292.83
		Total Equip	\$0.00
	7000	Total Cost	\$292.83

Description	Completed By	Reported Hours
5724 - DIRECT	Carla Merklin	0.00

56388

5094

5539

**Equipment:** 

350G-LC JD EXCAVATOR [5724]

**Work Location:** 

**Current Equipment Location** 

Created by:

Brittinni Lockard

Kms: Hr:

Status:

Serial Number: **Business Unit:** 

Closed 1FF350GXJMF815091

Machinery

Start Date: Stop Date:

## **Work Order Cost Summary**

Description	Quantity Labor Type	Rate	Total
[ <del></del> "		Total Labor	\$0.00
		Total Parts	\$0.00
		Total Equip	\$0.00
	*	Total Cost	\$0.00

Item ID	Description	Completed By	Reported Hours
103240	5724 - POOR LIFT PERFORMANCE	Sienna Campbell	0.00
Work Order:	57005	Status:	Closed
Equipment:	350G-LC JD EXCAVATOR [5724]	Serial Number:	1FF350GXJMF815091
Work Location	: Current Equipment Location	Business Unit:	Machinery
Created by:	Jeremy Detema	Start Date:	
Kms:	5094	Stop Date:	
Hr:	5539		

Description	Quantity	Labor Type	Rate	Total
STEVEN MICKLEBORO	2.00 RT	Shop Lube	\$41.17	\$82.34
			Total Labor	\$82.34
FILTER AIR {FLG: AF26124, JD: AT330978, BAL: RS5429} [P617643]	1.00 Each	1	\$71.31	\$71.31
FILTER AIR {FLG: AF26125, JD: AT330980, BAL: RS5430} [P617644]	1,00 Each	1	\$41.50	\$41.50
FILTER FUEL {FLG: FS19754} [AT365869]	1,00 Each	ı	\$92.91	\$92.91
FILTER FUEL {JD: RE533910, FLG: FS1093} [DZ112918]	1,00 Each	1	\$204.14	\$204.14
FILTER FUEL {JD: RE539465, RE532952, FLG: FS1091} [DZ130550]	1.00 Each	1	\$219.23	\$219.23
FILTER LUBE {JD: DZ101884, FLG: LF16106} [DZ118283]	1.00 Each	1	\$39.45	\$39.45
			Total Parts	\$668.55
			Total Equip	\$0.00
			Total Cost	\$750.89

Item ID	Description	Completed By	Reported Hours
102349	0500 Hour Service	Carla Merklin	2.00

- \* Change engine oil.
  \* Change engine filters -- oil and air.
  \* Change fuel filters.
  \* Change final drive oils.

- \* Check all fluids.
  \* Complete grease.
  \* Sample all oils.

59224

Equipment:

350G-LC JD EXCAVATOR [5724] **Current Equipment Location** 

Work Location: Created by:

Brittinni Lockard

Kms:

5094

Hr:

5539

Status:

**Serial Number:** 

**Business Unit:** 

**Start Date:** 

Stop Date:

Closed

1FF350GXJMF815091

Machinery

# Work Order Cost Summary

Descri	ption	Quantity	Labor Type	Rate	Total
LEVI LO	OMIS	4.00 RT	Shop Mech Field	\$59.34	\$237.36
				Total Labor	\$237.36
CONVE	RTOR 24/12 VDC, 10A {SDC-15} [ICT241210A]	1.00 Each	1	\$155.67	\$155.67
ESPAR	EASY START PRO TIMER KIT [2028007022000A]	1.00 Each	1	\$209.22	\$209.22
TEMP (	ONTROL KNOB [FYA00026807]	1.00 Each	1	\$6.83	\$6.83
				Total Parts	\$371.72
				Total Equip	\$0.00
		· · · · · · · · · · · · · · · · · · ·		Total Cost	\$609.08

Item ID	Description	Completed By	Reported Hours
108330	5724 - CHECK OVER	Carla Merklin	4.00
Work Order	: 60376	Status:	Closed
Equipment:	350G-LC JD EXCAVATOR [5724]	Serial Number:	1FF350GXJMF815091
Work Locati	on: Current Equipment Location	Business Unit:	Machinery
Created by:	Brittinni Lockard	Start Date:	
Kms:	5094	Stop Date:	
Hr:	5539		

Descriptio	n	Quantity	Labor Type	Rate	Total
JASON HOL	LINGSWORTH	4.00 RT	Shop Mech Field	\$59.34	\$237.36
LEVI LOOM	IS	1.00 RT	Shop Mech Field	\$59.34	\$59.34
				Total Labor	\$296.70
WINDOW [I	FYA00001499SH]	1.00 Each	1	\$553.68	\$553.68
				Total Parts	\$553.68
				Total Equip	\$0.00
				Total Cost	\$850.38
Item ID	Description		Completed By	Reported Hour	5
110386	5724 - CHECK OVER, REMOVE WINDOW		Carla Merklin	5.00	

60472

**Equipment:** 

350G-LC JD EXCAVATOR [5724]

**Work Location:** 

**Current Equipment Location** 

Created by:

Brittinni Lockard

Kms: Hr:

5094 5539 Status:

Serial Number:

**Business Unit:** 

Closed 1FF350GXJMF815091 Machinery

**Start Date:** 

**Stop Date:** 

**Work Order Cost Summary** 

Description	Quantity	Labor Type	Rate	Total
ANTHONY RODRIGUEZ	1.00 RT	Shop Lube	\$41.17	\$41.17
			Total Labor	\$41.17
		· · · · · · · · · · · · · · · · · · ·	Total Parts	\$0.00
			Total Equip	\$0.00
	<del> </del>		Total Cost	\$41.17

Item ID	Description	Completed By	Reported Hours
78955	0250 Hour Service	Carla Merklin	1,00

\* Change engine oil.
\* Change engine filters -- oil and air.

\* Check all fluids.

\* Complete grease.

Work Order:

65245

**Equipment:** Work Location: 350G-LC JD EXCAVATOR [5724] **Current Equipment Location** 

Created by:

Clayton Michelson

Kms:

5094 Hr: 5539

Status:

**Serial Number: Business Unit:** 

**Start Date:** Stop Date:

Closed 1FF350GXJMF815091

Machinery 3/24/2025

3/24/2025

Descriptio	n	Quantity Labor Type	Rate	Total
CLAYTON M	IICHELSON	22,00 RT Shop Weld Field	\$55.71	\$1,225.62
			Total Labor	\$1,225.62
FEMALE SA	E JIC 37 CAP [06CP12]	2.00 Each	\$7.09	\$14.18
MALE JIC (3	37) HEX PLUG [03CP12]	2.00 Each	\$6.25	\$12.50
			Total Parts	\$26.68
			Total Equip	\$0.00
			Total Cost	\$1,252.30
Item ID	Description	Completed By	Reported Hou	rs
119330	cut corks	Carla Merklin	22,00	

65416

Equipment:

350G-LC JD EXCAVATOR [5724]

Work Location:

Created by:

Randy Wearmouth

Kms: 5094 Hr: 5539 Status:

Serial Number:

Business Unit:

Start Date: Stop Date: Closed

1FF350GXJMF815091

Machinery

# Work Order Cost Summary

Descri	ption	Quantity	Labor Type	Rate	Total
KURT \	VIRDA	32.00 RT	Shop Mech Field	\$59.34	\$1,898.88
				Total Labor	\$1,898.88
BOLT [	FXB00000988]	1.00 Each		\$13.79	\$13.79
BUSHII	IG [4381857SH]	2.00 Each		\$84.95	\$169.89
BUSHII	NG STICK (ARM) AND LOWER H-LINK [4443885]	2.00 Each		\$230.05	\$460.10
MIRRO	R {20Y-54-74280} {FYA00057339} [AT497535SH]	1.00 Each		\$112.68	\$112.68
NUT (4	414857]	2.00 Each		\$3.85	\$7.70
SEAL {	107008} [TH102411]	4.00 Each		\$31.89	\$127.57
WASHE	R 4116X7X116 [6K6351]	2.00 Each		\$13.24	\$26.47
WASHE	R 4116X7X116 [6K6351]	2.00 Each		\$11.91	\$23.82
WASHE	R 4116X7X18 [6K6351HD]	2.00 Each		\$12.20	\$24.41
				Total Parts	\$966.43
				Total Equip	\$0.00
				Total Cost	\$2,865,31

Item ID	Descrip	tion	Completed By	Reported Hours
119720	5724- CI	HECK OVER	Brittinni Lockard	32.00
Work Or	rder:	65630	Status:	Closed
Equipme	ent:	350G-LC JD EXCAVATOR [5724]	Serial Number:	1FF350GXJMF815091
Work Lo	cation:	Current Equipment Location	Business Unit:	Machinery
Created	by:	Clayton Michelson	Start Date:	4/3/2025
Kms:		5094	Stop Date:	4/3/2025
Hr:		5539		

Descri	ption	Quantity	Labor Type	Rate	Total
CLAYTO	CLAYTON MICHELSON	10.00 RT	Shop Weld Field	\$55.71	\$557.10
				Total Labor	\$557.10
				Total Parts	\$0.00
ĺ				Total Equip	\$0.00
		· · · · · · · · · · · · · · · · · · ·		Total Cost	\$557.10

Item ID	Description	Completed By Reporte		
120135	5724 - romove thumb and install window	Code Modellin	10.00	
120135	5724 - remove thumb and install window	Carla Merklin	10.00	

66692

**Equipment:** 

350G-LC JD EXCAVATOR [5724]

**Work Location:** 

**Current Equipment Location** 

Created by:

Brittinni Lockard

Kms: Hr:

5094 5539 Status:

**Serial Number:** 

Closed 1FF350GXJMF815091

**Business Unit:** 

Machinery

**Start Date:** Stop Date:

5/1/2025 5/1/2025

Description	Quantity	Labor Type	Rate	Total
STEVEN MICKLEBORO	8.00 RT	Shop Lube	\$41.17	\$329.36
			Total Labor	\$329.36
FILTER AIR [FYA00001490SH]	1.00 Each		\$57.51	\$57.51
FILTER AIR {FLG: AF26124, JD: AT330978, BAL: RS5429} [P617643]	1.00 Each	ı	\$78.67	\$78.67
FILTER AIR {FLG: AF26125, JD: AT330980, BAL: RS5430} [P617644]	1.00 Each	l	\$45.83	\$45.83
FILTER CAB AIR {FLG: AF55754} [4S00686SH]	1.00 Each	ŀ	\$116.53	\$116.53
FILTER FUEL {FLG: FS19754} [AT365869]	1.00 Each	ľ	\$97.08	\$97.08
FILTER FUEL {JD: RE533910, FLG: FS1093} [DZ112918]	1,00 Each	l	\$214.87	\$214.87
FILTER FUEL {JD: RE539465, RE532952, FLG: FS1091} [DZ130550]	1.00 Each	1	\$212.87	\$212.87
FILTER HYDRAULIC (FLG: HF7679) [FYA00033065]	1.00 Each	l	\$122.41	\$122.41
FILTER LUBE {FLG: HF35516} [4630525]	1.00 Each	Ì	\$46.13	\$46.13
FILTER LUBE {JD: DZ101884, FLG: LF16106} [DZ118283]	1.00 Each	1	\$42.71	\$42.71
			Total Parts	\$1,034.62
(1)			Total Equip	\$0.00
			Total Cost	\$1,363.98

Item ID	Description	Completed By	Reported Hours
121148	5000 Hour Service	Carla Merklin	8.00

- \* Change all filters.
  \* Change engine oil.
- \* Change swing drive oil.
- \* Change final drive oils.
- \* Change pump drive / damper case oil.
- \* Change hydraulic oil. \* Check all fluids.
- \* Complete grease.
  \* Sample all oils.

68145

Equipment:

350G-LC JD EXCAVATOR [5724]

Work Location:

**Current Equipment Location** 

Created by:

Charles Hamelin

Kms: Hr:

Item ID

5094

5539

Status:

Serial Number:

**Business Unit:** 

Completed By

**Start Date:** Stop Date:

Closed

1FF350GXJMF815091

Machinery 6/4/2025

6/4/2025

## Work Order Cost Summary

Description

Descri	ption	Quantity	Labor Type	Rate	Total
J. HAM	ELIN	0.25 RT	Shop Lube	\$41.17	\$10.29
				Total Labor	\$10.29
				Total Parts	\$0.00
	-			Total Equip	\$0.00
				Total Cost	\$10.29

Item ID	Description	Completed By	Reported Hours
125695	0250 Hour Service	Carla Merklin	0.00
* Chec	ple engine oil. :k all fluids. plete grease.		

124515 5724	- 250Hr Sample	Charles Hamelin	0.25
Work Order:	72829	Status:	Closed
Equipment:	350G-LC JD EXCAVATOR [5724]	Serial Number:	1FF350GXJMF815091
Work Location:	Current Equipment Location	Business Unit:	Machinery
Created by:	Carla Merklin	Start Date:	9/8/2025
Kms:	5094	Stop Date:	9/8/2025
Hr:	5539	·	

Description	Quantity Labor Type	Rate	Total
ANTHONY RODRIGUEZ	6.00 RT Shop Lube	\$41.17	\$247.02
		Total Labor	\$247.02
FILTER AIR (FLG: AF26124, JD: AT330978, BAL: RS5429) [P617643]	1.00 Each	\$82.62	\$82.62
FILTER AIR (FLG: AF26125, JD: AT330980, BAL: RS5430) [P617644]	1.00 Each	\$48.20	\$48.20
FILTER FUEL {FLG: FS19754, P551858B} [AT365869]	1.00 Each	\$103.84	\$103.84
FILTER FUEL {JD: RE533910, FLG: FS1093, P576926} [DZ112918]	1.00 Each	\$183.43	\$183.43
FILTER FUEL {JD: RE539465, RE532952, FLG: FS1091} [DZ130550]	1.00 Each	\$86.33	\$86.33
FILTER LUBE {JD: DZ101884, FLG: LF16106} [DZ118283]	1.00 Each	\$36.62	\$36.62
		Total Parts	\$541.04
		Total Equip	\$0.00
		Total Cost	\$788.06
Itom ID Becariotion			

Item ID	Description	Completed By	Reported Hours
129518	0500 Hour Service	Anthony Rodriquez	6.00

\* Change engine oil.
\* Change engine filters -- oil and air.
\* Change fuel filters,
\* Change final drive oils,
\* Check all fluids,
\* Complete grease,
\* Sample all oils,

Work Order:

73071

**Equipment:** 

350G-LC JD EXCAVATOR [5724] **Current Equipment Location** 

**Work Location:** Created by:

**Hunter Tschetter** 

Kms:

Hr:

5094 5539 Status:

Serial Number:

**Business Unit:** 

Start Date: Stop Date:

Scheduled

1FF350GXJMF815091

Machinery

9/12/2025 9/12/2025

Item ID	Description	Completed By	Reported Hours
133064	5724 Sale Prep And Inspections		60.50